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Purchase of materials on creriit
Materials issued to production

Materials lssued for repairs & maintenance
Goods fin!shed during the year at cost
credit sales

Cost of goods sold
Production overheads absorbed

Production overheads paid during the year

Administration overheads paid during the year
Selling and distribution overheads paid during the year
Payment to creditors
Collection from debtors
Advance Tax Paid
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5,00,000
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10,000
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15,00,000

11,00,000

2,40,000

2,00,000

50,000

70,000

5,00,500

14,50,000

1,500

Instructions : (1) Show necessary calculations as a part of your answer.

(2) Figures on the right hand side indicates the rnarks of the question.

1. The Reliance limited keeps accounts under integrated accounting system.
The following are the balances on !-A4-20!7

Partieulars
Debit
(Rs")

Credit
(Rs.)

J_tgqte{ge;'Controi A.rc. i 90,000
Vr/ork-in-progress Control A,/c. 85,COo

Finished Goods Contro! A/c.

Eank A/c. 50,000
Creriitr.,'rs Aric. 40,occ
Fr,:<ed AsseB n/c. 2,75,r-;04

Debtors A/c. 60,00e

Share Caoitai ,4/c. 4,00,000
Provision fcr Depreciation A/c. ?5,0c)0

F & L Arlc.

I ULd' trri5..uuu

Transactlons during the year ended on 31-03-2017 ai.e as undei. :

1



Purchas of fixed assets by cheque

Donation

Penalty paid

Depreciation of machinery
lncome tax paid during the year

lnterest on Bank Loan

10,000

5,000

2,500

6,500

1,00,000

500

Prepare necessary accounts in the integrated ledger of company and prepare trial balance at

the end ofthe year.

OR

1. (A) Explain integrated accounting system. lmportance of integrated ledger control

accounting system.

2.

(B) How is profit found in cost accounting ?

{A) X Co. Ltd. follows EOQ policy for one of its components, the details of which are

as under': 7

Purchase price per unit L000

Cost of an order 400

Annual car.rying cost of one unit in inventory is 25% of its purchase price. Total

cost of inventory and ordering per annum is 12,000.

The company has been offsred a discount of 5% on the price of a component,
pi"ovided that lot size is 5ir0 components at a tir':'le. You are requh'ed tc :

(i) Compute EOQ

(ii) Discorrnt offer shoulC be accepted or not ? Acivise.

(iii) Would your advise differ, if company is offered i5% discount on a singie

order of it requirement ?

OR

The cost of a unit is 100. lts annual demand is 1200 units. Ordering cost is 1.00

per order. Annual inventory carrying cost 'ls 12 per unit, The following discount

schedule is offered :

Order size - units

0-99
100 - 199

200 -299
300--

You are required to find out optimal order quantity and its total cost.

(B) Tata company is manufacturing a specialised machine. Direct labour require to

z

Discount

0%

s%

70%

t5%



3

make the first machine is 6000 hours, learning curve is 80%. Direct labour cost

ls 5 per hour. Direct rnaterials required for a machine is 10,000. Fixed overheads

are of 1,OO,OOO. 7

You are required to calculate :

(i) Average cost of 4 and 8 machines.

(i0 After manufacturing 8 machines, if the repeat order of another 6 machines

is received, what prlce should be fixed per machine, so as to receive 40%

profit on selling price ?

OR

Explain and distingu'sh 'cost control' and 'cost reduction'' 7

l.rlahindra Company Ltd. produces and sells three products viz. A, B and C. Production is

done batchwise, each of 10 units and is sold in a packet of 5 units. The details of these

products are as under : t4

Palticulars I{ B c

Produriion units 400 eiio 800

Cost of dirEct raw materials per unit. 80 r.00 120

Direct l-ehour Ccst per unit 40 .10 60

ivlachine hours i'equired per unit LA co 6

Other detaiis of prcduction overheacis ere as urrder :

Overheads Cost drivers Rs.

F gctory,erorks exper'ises [\4achine hour-s 68,000

Stt;rec receiving.Dst H,equisit!ons raised

Nuratrer of oroducticn batcires

?2,500

futachine set-up c6st 18,000

Ccst reiating te quelity coi':trol Nurnber of production L,atches 9,000

Cost reiating to nrs:-trial handling & dispatch
Num'neis cf saie; orclers

executed 18,50C

Tctal L35,000

Number of requhitions ra'sed on stores was 25 for each product.

Total number of sales orders executed was 180, each was in a batch of 5

units. You are required to calculate :

(i) Total cost of each product assuming the absorption of overheads on machine hour

basis.

(iil Total cost of each product assuming the absorption of overheads by using

Activity Base Costing.

OR

(A) Distinguish between 'Conventional Costing' method and 'Activity Based

Costing' method. 7

(B) Explain the VED Analysis 4

3
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(C) Explain the concept of cost drivers with illustrations

4. A company has received an order for supply of 5,000 units of a product. Forthis order
a fixed investments of 50 lakhs and working capital equal to 25% of sale value will

be required. 14

Each unit will require 10 kg. of raw materials and 10 labour hours. Price of raw
materials is 20 per kg and labour rate is 10 per hour. The details of overheads are as

under:

Fixed overheads :

Production overheads 4,00,000 and Selling & Distribution overheads 2,50,000.

Variable Overheads:

Producticn overheads @ 15 per labour hour and selling and distribution
overhead 40 per unit.

You are required to calculate the price of a product under each of the following
situations :

(ii When profrt is25o/o on saliing price.

(ii) An expecteC return is of i59-6 on totaicapita! employed.

(iii) To earn profit at L5% on or'rginal sale price, when discount is 20% on selling
price.

(iv) To sale at 3Oz6 pr"ofit on value added amount.

tvi l#hen profit volume ratb is 50%.

(vi) When profrt is 100% of conversiori cost.

(vii) To earn profit of 40 per unit.

OR

(a) Explain meaning and objectives of pricing 7

(bi Describe Benefits of learning curve. 4
(c ) Describe Areas Covered by cost Reduction. 3

Select the appropriate alternative . L4

(1) According to lntegrated accounts which of the followings statement is true ?

3

4.

5

(a) As two separate of books are not to be kept so work is not duplicated.
(b) lt has been possible to introduce mechanization of accounts.
(c) there is no need to reconcile the profit or loss of books of financial accounts and

cost accounts.
(d) All of the above
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